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4.6 Solving Exponential & Logarithmic Equations

Logic: another thing that
penguins aren’t very good at.



HW:



3 Types of Exponential Equations:

\/1. a' = b, where a and b are integral powers of the
same number

ex: 27° =9

IA. a' = b, where a and b are NOT integral powers of
the same number

ex: 3'=5

3. quadratic form

ex: 3 +3°-6=0




REVIEW:

ex: Solve.

273.\‘—7 - 8 112—3.\‘



Type2

ex: Solve. 5)(: 5
aA)3* =5 / )955)(; /Dgg
09,55 | xlbg>=F9S
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ex: Solve.

b) e =10

ne™ = hio
(X+b-‘—'— In]O

X == +InlD
X=[.3D3



ex: Solve.

) 347+6=54



ex: Solve.

d) 2-10"°-3=37



ex: Solve.

e) 2-5"7*=3
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ex: Solve.

f)5 |—3 2_-,-_—{0 ,b;g-!-?_
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Types

ex: Solve.

D2%%-5-2"-24=0 _5x-24

3 -3)(Z +3 =D (x 3)6+3)

I-8=D 2 +3=
2°=8 .

&=3)



ex: Solve.
X JAX -
k) 4 =7 ‘4,4-12 0

(4 - 2 -4)=0
Feg G =

Ipg 3= @

\/bgs =
S



MIXED PRACTICE

ex: Solve.

a) 5-2"-3=157
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